Survey Question
P R Descriptive | QA1| QA1| QA2 |QA2| QA3 | QA3 | QA4| QA4 QAS[QAS|QA6| QA6| QA7| QA7| QA8| QA8
it Statistic | BEF | AFT|BEF |AFT| BEF | AFT| BEF | AFT| BEF [AFT | BEF | AFT| BEF | AFT| BEF | AFT
Operational mean 333 4 |233| 3 [1.67]267| 2 3 [1331233|1.67| 2 [267|3.67| 3 4
Engagement
(n=3) sd 058 1 (058 1 [0.58|0.58| 0 1 [0.58(0.58|0.58| 0 [0.58(1.15| 0 1
Theoretical mean 233|467 2 (4.67(233|467| 2 (433|233|467| 2 4 |233|4.67|2.33|4.67
Engagement
(n=3) sd 0.580.58( 0 [0.58|0.58|0.58| 0 |1.15/0.58|0.58| 0 1 |0.58]0.58)|0.58]0.58
Transformational | mean 33|48 (29|46| 3 |44 23[39|28 45|27 |42]32]|45]34]|46
Engagement
(n=10) sd 071(0.71(0.71( 0 |0.71] O 0 |071| O 0 (071071 0 |0.71| 0 |0.71




